
Mathematics X
Worksheet 1

1. △ABC bnð ∠A = 60◦,∠B = 50◦ BWv . {XntImW‾nsâ A´À-

hr‾‾nsâ Bcw 3.5 sk.aoäÀ BI‾¡hn[w {XntImWw \nÀ½n¡pI

2. △ABCbnð AB = 6,∠A = 120◦, AC = 8Bbmð {XntImWw hc¨v

A´Àhr‾w \nÀ½n¡pI. Bcw AfsógpXpI .

3. 3.5 sk.aoäÀ BcapÅ hr‾w hc¨v tI{µ‾nð\nópw 8 sk.aoäÀ AI-

sebpÅ _nµphnð\nópw hr‾‾nsebv¡v cïv sXmSphcIÄ hc¡pI.

AhbpsS \ofw AfsógpXpI

4. A(3, 4), B(−1, 5) Fóo _nµp¡fneqsS ISópt]mIpó hcbpsS Ncn-

hpw kahmIyhpw FgpXpI

5. 8, 11, 14, 17 · · · Fó kwJymt{iWn kam´ct{iWnbmtWm? kam´c-

t{iWn BsW¦nð AXnsâ _oPKWnXcq]w FgpXpI. 100 \v apIfnep-

Å Cu t{iWnbpsS BZys‾ ]Zw ImWpI

6. 3 sImïv lcn¨mð cïv inãw hcpó kwJyIÄ t{iWnbmbn FgpXpI.

Cu t{iWnbpsS _oPKWnXcq]w FgpXpI

7. Hcp kam´ct{iWnbpsS s]mXpcq]w 5n − 3 BWv. Cu t{iWnbpsS

F{Xmas‾ ]ZamWv 87

8. Hcp kam´ct{iWnbpsS _oPKWnXcq]w 3n + 5 BWv. Cu t{iWn-

bpsS s]mXphyXymkw IW¡m¡pI. 25 as‾ ]Zw IW¡m¡pI. 81 Cu
t{iWnbpsS Hcp ]Zambncn¡ptam?

9. Hcp kam´ct{iWnbpsS ]‾mas‾ ]Zw 46 Dw ]Xn\ômas‾ ]Zw 86

Dw Bbmð BZy]Zhpw s]mXphyXymkhpw Isï‾n t{iWn FgpXpI

10. (1, 1), (4, 7) Fóo _nµp¡Ä tbmPn¸n¡pó hcbpsS Ncnhv IW¡m¡p-

I.hcbpsS kahmIyw FgpXpI.Cu kahmIys‾ ax+ b Fó cq]‾nð

FgpXpI.

x \v 1, 2, 3 · · · Fóo hneIÄ {Ia‾nð \ðIn y hneIÄ ImWpI. .

y hneIfpsS t{iWn kam´ct{iWnbmtWm? hcbpsS Ncnhpw kam´c-

t{iWnbpsS s]mXphyXymkhpw X½nepÅ _Ôsa´v ?

11. 2x− 3y − 12 = 0 Fó hcbpsS Ncnhv IW¡m¡pI. Cu hcbv¡v k-

am´cambn (1, 1) Fó _nµphneqsS ISópt]mIpó hcbpsS kahmIyw

FgpXpI

12. x+ y− 2 = 0 Fó hc xA£s‾ JÞn¡pó _nµphpw y A£s‾

JÞn¡pó _nµphpw IW¡m¡pI.Cu hcbpsS Ncnhv ImWpI



13. 2x − 3y − 12 = 0 Fó hcbpsS Ncnhv F{X? CtX NcnhpÅ hc

(5, 2)eqsS ISópt]mbmð B hcbpsS kahmIyw FgpXpI

14. 3x− y− 6 = 0 Fó hcbpw x+3y− 12 = 0 Fó hcbpw Iq«pap«pó

_nµp IW¡m¡pI.Hmtcm hcbnsebpw asämcp _nµpIqSn FgpXpI.. Cu

hcIÄ ]ckv]cw ew_§fmb hcIfmtWm Fóv ]cntim[n¡pI

HOT( Higher Order Thinking) Questions

15. A(8, 6), B(5, 3), C(9, 3) Fóo _nµp¡Ä {XntImW‾nsâ ioÀj§fm-

Wv . A bnð\nópw hc¡pó a[ya‾nsâ kahmIyw FgpXpI

16. ]Z§sfñmw F®ðkwJyIfmb kam´ct{iWnbpsS Hcp ]Zw ]qÀ®hÀ-

¤ambmð thsdbpw ]qÀ®hÀ¤]Z§Ä Dïmbncn¡psaóv sXfnbn¡pI

17. x, y, z kam´ct{iWnbnemWv .IqSmsX y − x = k(x − z) Bbmð k

hne IW¡m¡pI

18. ]Z§fpsS XpI 140 Dw F®w 7 Dw Bb kam´ct{iWn FgpXpI.

C‾cw F{X t{iWnIÄ Dïmbncn¡pw ? F´psImïv ?

19.
√
2,
√
3,
√
5 Fónh Hcp kam´ct{iWnbnse ]Z§fmIptam? F´p-

sImïv ?
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1. In △ABC, ∠A = 60◦,∠B = 50◦. The radius of the incircle is
3.5cm . Construct the triangle

2. In △ABC AB = 6,∠A = 120◦, AC = 8 Draw triangle and con-
struct its incircle .

3. Draw a circle of radius3.5cm.Mark a point at the distance 8cm

from the center. Draw two tangents from that point to the circle

4. Find the equation of the line passing throughA(3, 4) and B(−1, 5)

5. Is this 8, 11, 14, 17 · · · an arithmetic sequence ?If yes write its
algebraic form . Write the term just before 100

6. Write the sequence of numbers leaving the remainder 2 on dividing
by 3 . Write its algebraic form

7. The algebraic form of an arithmetic sequence is 5n − 3. Is 87 a

term of this sequence

8. The algebraic form of an arithmetic sequence is 3n+ 5. What is
its common difference .Find its 25 th term. Is 81 a term of this

sequence?

9. The tenth term of an arithmetic sequence is 46 and its fifteenth
term is 86 . Find the first term and common difference? Also

write the sequence

10. Find the slope of the line passing through (1, 1), (4, 7) .Write its
equation.Write this equation in the form ax + b

Give the values1, 2, 3 · · · to Cto obtain corresponding values of y
. Are these yvalues in arithmetic sequence? What is the relation

between slope of this line and common difference of the sequence
?

11. Find the slope of the line 2x − 3y − 12 = 0 . Find the equation

of the line passing through(1, 1) and parallel to this line

12. Find the coordinates of the point where the line x+y−2 = 0 cut
x and y axes.Calculate the slope of this line

13. Find the slope of the line 2x− 3y − 12 = 0. Find the equation of

the line parallel to this line and passing through (3, 5)



14. Find the coordinates of the point where the lines 3x− y − 6 = 0
and x + 3y − 12 = 0meet.Find one more point on each line. Are

they perpendicular to eachother

HOT( Higher Order Thinking) Questions

15. A(8, 6), B(5, 3), C(9, 3) are the vertices of a triangle . Write the

equation of the median passing through A

16. In an arithmetic sequence with integer terms , if one of the terms
is a perfect square , prove that there will be more than this as

perfect square terms

17. x, y, z are in an arithmetic sequence.Also y − x = k(x− z). Find
the value of k

18. Write an arithmetic sequence having 7 terms and the sum of the

terms is 140

19. Can
√
2,
√
3,
√
5 are the terms of the same arithmetic sequence?

Why?


